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— 5915 POV PHYIA PRI AT PRV
There is M’eeloh by the new, but there is no M’eeloh by the old, etc.

Overview

The X3 cites a Xn>12 which states that there is 79°vn if one used the ‘new’ o°7pw,!
however there is no 172°v7 if one used the ‘old’ 2°2pw. Our MdoIN describes in detail
the process of the bringing and distributing of the %pwn n°xnn and explains this
NN°°70.

- NYANY DYYPYN YY PINYN 1IN /NI DIYPY NNAN YW PIvn 1N 19
This was the procedure of bringing 2°%pw; on the first day of 97X they (7"2)

would announce regarding the bringing of a"»pw -
= 10932 9NN 139N NDON IN 20199 1Y 2NOWHa DNYIPY NN 1N YIN NN D)

And that entire month of 17X the Jews would bring their 2°9pw to the 775w, until

half a month before o5, meaning until the first of Jo°1 -
= DIYNI D295 191 PRI

And on 01 1" they would separate from these accumulated o°%pw, the first

separation to purchase the 1128 n1137p. NN explains why it is called 7WwWRA 717N -
= NN 91992 NINY 91992 NDAN 9992 PNRIN NIYIA 0P /HaY

For they would separate 2°>pw for n1127p three times a year; by nosi7 8175 (which

1s 10°1 11"7) and by n9xY ©199 (on 11°0 11", before NY12W), and 317 ©1993 (around 'X

"wn before N1210). MvOIN elaborates from where these monies were taken -
= PAYLN TIN IMIN PINN YO THN 7Y 9N THNN DINAN DIIPYWN JD 99995

Meaning, all the a%%pw that were brought from 2782 7nN till Jo°12 TnR, were

placed inside the 7ow® -
- PRO SWHY SY MDD WIWA NIUNI NI 1A PRI

And they would separate from them the first 7219n; they would put the %pw

(which were separated) into three baskets, each basket containing three 580 (so there

were nine X0 of 0°9pw, which were removed from the 70w%, by the I1WKY 72170 on 01 11") -
= 9181 29D NIKY DD 1Y A8 MNP U3 PAPIY 19N )

And from these nine 7X0 they would buy all the 9122 n129p until n9xY ©199 (or

! Every Jew was obligated to donate one half-2pw each year, which was used for purchasing the M13% m13p (the
communal sacrifices) such as the daily 7°»n 1299 and the 70 N1127p, which were brought on 119 ,n2w and the o*73n.
2 The 79w (or office) was a place in the n*277 177 where the 0°7pw (°¥) were kept.

3 o119 means broken (or half) — a 70175, We break the month into two, therefore half a month before nos is 10°1 7"
See footnote # 11.

4 Others amend this to read PRO WHw WHw 5w (instead of XD WHW 9W).
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"0 n''7) as necessary -
= (1 mwn 1 prs ovpwa) BNN [ININ] 219D MNP IMNX DY 971N 1)

And from the remainder of those baskets (if there were 2°7pw left over from these

nine X0 of the ANWKRA 77M17N), there is a dispute amongst 23810 there in 2°5pw noon -
- 5MAMY NP )00 PYIPY IR THY NAAY MK PPN SIPNDT 1710 PYIYY TN Th

One says they made from them golden panels for covering [the 2>@7pi wWTIP]
(the m212), [and one said it was used to purchase naw 2], and one said it was

used for 1721277 Y92, This is what happened to the leftovers of the Mo wHw (the nine 1°X0 of the

AWK 710) —
= 7MY YN HMIND 097 IVYYI MIPN ININNMIY INNRY NIYHN 11 INYIN

And that which remains in the 7ow% after the three m»p (for the I1WwXY 7m1N)
were filled; that remainder becomes leftovers and are used to repair the walls of

the city (2°>v17°) and its towers. This concludes the process of the T1wX" 170 on 10°1 1"

which was taken from the o°>pw which were brought from 77% 11" till j0°1 1",
= 75 DINIPIN EMIDIY WITO 7PNTN PUPN 1NN 1YPY N2ANN THINY 1O

And one who brought his pw from 7% onwards (he did not bring it in time for
the first 77217n), he puts his Hpw into the °n7n P%pn, meaning the nvzw which

were called and labeled Pn7n Popn; they were called now because -
- 95y 098P NVNY 02aNI

They were wide on the bottom and narrow on the top (like a ow) -
= PN PYPN TINIPI 19T MIYN DIVTN DIYPY 12INY PV OV Y

And since the new 2°%pw from the current year are placed in these M9 they

are called and labeled n7n Popn.
= 112V N1)IN PNRNIN 1NISY 9199 939917 11202 TR YIHINWNY

And once the first of 11°0 which is naxy ©199 arrived, they would separate a
second 71%19N; the process would be -

5> The w"wn (based on the 7awn there ) amends this to read X T ,DWTPR WP N2 M9 277 VIR 172 PUIWY R 10
N7 ORI PYIWW 0K TM L0 vHa.

6 mamn vop (or the dessert of the nam) refers to the practice that whenever the nam was inactive (there were no mMiap
that needed to be offered) they would offer 721w n1129p to ‘feed’ the namn, so it should not be left ‘empty’; these N3P
for mamn yop were bought with these leftover monies from the (711w&") 72170.

71070 9PN means new o°9pw. The word 9pn is similar to the word 7pw; the n replaces the w. Similarly nn is similar
to w7, again the n replaces the w.

8 mnow are what we would call today oypwn. In the p"nia there were many maow for different purposes; one of
these NoW were designated for PnTn 17PN,

9 This would make it very difficult for unscrupulous people to stick their hand inside to get to the 0°%pw, the narrow
opening prevented that from happening (as in many of today’s oypwd).

10 The fiscal year for 2°7pw and M3 was from 1071 71" to 70°1 1""; any monies brought within this year are designated
as 1N 17pn. They would not put these new 2°%pw in the 72wY, only into the mMIoW.

1 See w"wn who claims that n7xy 0179, half a month before my1aw (710 1), should be 7% X">. See footnote # 3.
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- 97258 733997 259919 515 MY YWHY 1IN TINY PNHTN PPN INNY DYDY Iy
That they would take the 2v%pw which were brought and placed into the {"%pn
Mo 1077, and place them into those three baskets (which contained three X0

apiece) in order to bring the 9128 n129p from 1o 0" -
=NN O 1Y

Until 2177 ©199 (around »wna 'R). All those N3P were brought from the 773w 717N, which was

taken from the mowW 1°n71 77PN,
= YVNA NN 1Y PHIN 1’7‘,75'\: TIY 139 192920 ﬁbp\’) NN HINY UMY

And one who brought his >pw from n92y 9195 onwards until »2n2 '8 (he missed
bringing it before 110 1" for the 71w 7m7n), would also place it into the °%pn

oW AT -
- 19232 /N 1Y N8 NP 25991 73 NMIN PRIN N AN DI 1Y 19N

Which (>wna 'R) is a7 ©v92 and then by "wn '} they would separate the third

72Y9n (in the same three N1912) to bring the 9123 N1129p from "wn1 'R until J0%13 'N.
= (8 DY) DNN MTD NN 129993 1Y NOYITY NN XPOUN XY ON)

And if the third 72190 does not suffice to bring the 712% M127p until 10°2, regarding

this issue, there is a dispute there (in 2°>pw noon) -
= HDAY MV 122 INAY PHTNN 13WI9%9 DN NN 930 NP NN

The ?"n maintains you should make another (a fourth) 7%yn from the new

9P which came between n120 and oD -
= ©9YY PRNN PR MPN ININNMY TNRY 11NWIY D1PWA 1 Yan

However from the leftovers which remained (in the 70w%) after the noy» were
filled, we are never 2910 from them. This is the view of the p"n -

- ©99PUN 11 NP 920 NN %29
However »''1 maintains, one may take (for the 712% N1127) from the 2%39% (in the

owo) -
= 19239 MMD 1219277 1IN 2P0 NYWHY 1YY NN INAY HHMIND)

And one may also take (according to »"7) from those 2°%pw that where brought
after the conclusion of the three 720 periods, namely the 2°%pw which were

12 The first two nmmn were for shorter periods (two months for WX 727N [from 10°1 1"7 to 11°0 1"1], four months
for v AN [from 10 1" to *wn2a 'X]), however the third 7m0 was for six (and sometimes seven) months [from
wn 'R to 1021 'R], therefore the possibility for a shortage was more probable. [In addition, presumably by time they
made the 73w 72170 (on 0 1"), most Jews brought their o°%pw already (when they came on 1o to be 231 72w and
be 2°7pn the 109 1327p), so there were not that many 2°%pw for the n*w 5w 7m17n.]

13 See later in this mooIN that there was another source from where they could take the 0°2pw (for between M0 and
no9), and that is from the remainder of the 217 of the first three nM1nn. See text by footnote # 18.

14 This line of text may be the conclusion of the previous paragraph, or it may be the beginning of a new paragraph
(depending on the X017 in footnote # 16).
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brought between n1210 and jo°1.

maon discusses the status of the 2°7pw which were brought 10°1% Mmoo 1a:'°
- NYIN 113 PUS DN 75794 WY TINN 3w x5

However, there is no indication from >"w=p whether or not there is 7797 in the

0°%pw which were brought between n1210 and j0°1.
= 1199900 D NN G NINY 2297 YNTNIA POHYINT YD DNYAN 12 PNYY 13939 DINN

However the X'23°7 explained that "n7m2 3%¥1% according to >''1 includes even

the 02pw that were brought after all the three N3N, and the reason there is 72°v» in
these latest 2°9pw is because -
- 29D 29PNY DAY 10Y 19908 NIV

Perhaps they will eventually be needed to purchase n129p (if the o°%pw of the third
72170 [in wn] will not suffice) —

moon offers support to the view of the X"2x™:
- DN MNPT MNP 22) (ow) DIVPY NN 2N 32) %91

And this is also what we learnt in 2°%pw noo» regarding the nioyp, where he

states there -
- 19WY AN UYbun 19PN Y NNYIY B9mba nrwrhy Nndv

If the third 72170 was completed; meaning that all three baskets of the third 7m0
(which was taken *wn2) were emptied (there were no more 2°%pw left from the third

72170), he goes back to the second 219N (the 7210 from naxvs 0179), which may have

not been used up yet -
= ©Y99%) NN INYIY MDY NHYNRIY 9NN NNV Nndy

If the second 7y n was gone (there were no 2°7?pw remaining from the 7m0 of
Ny 0179), he goes back to the first 7170 (which was separated nosi ©017192); if all

three Ny n were gone he should make another 72y -
= NOYWIN PYN DIIN? DN IND NN ININY PHTN PYPHN VIV

Meaning he should make a fourth 72170 from the 20717 1°%pn which were brought

15 We know that there is 77°y» in the 09w that were brought from 97X to *wn and were designated for the mia7p (by
being placed in the mo17). We know that there is no 72°¥» in the 2°9pw that remained in the 70w (the 72w5n ™), for
those 0°2pw were designated for the 7°v77 M (not for NM127p). We do not know what is the status of the 2°9pw which
were brought between m210 and 10°1. Perhaps there should be 72°yn for we may need them (if the n°w>>w 7m11n does
not suffice until 10°1), or perhaps there is no 77°v» for we may not need them.

16 The w"wA suggests that it should read X7 (instead of X?1) as a continuation of the previous line; 191 Waw jnNRM;
however the 7"w1nn retains the Xo7°3 of X971, [There does not seem to be any significant difference between the two.]
17 1%pn2 PovIn 772 "W merely states 772 177 1728 12797 W (which obviously includes the o°7pw in the m=p, [and
obviously excludes the oW *»w]) but *"w1 does not address the later 10°3 79 N1210n 2*9pw.

18 The X"w7in amends this to read; MW 10 MR AWHWA 22 123w 923 (instead of MW Hwn 1977 93 In2ow).

19 There were no more 2°7pWw in the last 72170 and funds were needed to bring M317p until j0°1.
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after the holiday of n1210, but he should not take 7210 from the owbn »»w, 20

This is the view of the p"n, however -
= 099792 YN N NN 229 NINY DYDY NN 9DIN 9INMI 229

n'"9 states he may go back and buy the n1127p from the remainder of the 72w,

since »'"1 maintains there is 772°¥% by the 75W57 999w, the reason is, for -
= 21902Y DNY 199V NIV

Perhaps they will eventually be needed.

mooIn explains our Xn*°72:
= DNY 1990 NNIY 23PPNHTNA PPN o5 DTN NN 9INRT INHDD 920 2ZRNYM

And now we can say that the p"n of our Xn>72 (namely >"7) maintains like the one
(the P"n in 2°%pw) who rules that if all the 2°%pw from all the three N0 were used
up we should go back and be 2710 a fourth time (from the 0°9pw which were brought
after m210), so therefore there is 7%°v% in the °n7n for perhaps they will be

needed -
= PPINY PYHPN DNYDY 21N DIINN MDY 1399107 WITD PPINYa N DAN

However there is no 77°v» by the ‘old’ 2°>pw, the meaning of P ny is that there

were other n1212 and they were labeled °pony °%pn -
- 1Y A9 TINY MM INAN MIVY INANI HTPNUN YPY XYY 314

For whoever did not give his »pw: n°smn last year, brings it the coming year, and

places it inside this "2 -
= TSI YN HMIN )N PYIY 1759Y NIWHN YW HNNY 29Y 1D12 PYIIN XY

And there is no 7%°w» in these PP Ny 19PN, since they have the status of S»w
7owbr, and they are used for the walls and towers of o°>w1, but are not used (ever)
to purchase the 712x M127p. This is the view of the "n in our Xn"2 here. However -
- NAYYN PV PYYIN MIN NI 539 DXNY PPINY AN PYIN VN NN 2249
»'"1 rules that there is 72°¥% even by 1P ny 1900, since »''1 maintains there is
79°un by mowh 1w -
= 09°UY 9N B899 1YY 0NN 9MINRT NMIYLY YINN AN

20 The 7ow9n »»w are the o°2pw that remained in the 79wY after the 9pw of the first 77N (which was nos; 01792)
were removed from the 7ow5.

2 We see (from n"9) that anything from which we may possibly use for n1127p are subject to 72°vn, it follows therefore
that since the 0°%pw which were brought after n1210 may be used for the n1127p (according to the p"n [if all the nvan
was used up]), there will be 72°¥n by them as well (according to the p"n). Thus proving the view of the X"2x™.

22 Now that we say that whenever there is a potential that the o°2pw will be used for M127p there is 77°vn, we can
understand our Xn>12 here.

2 pnTn are the o9pw that are given to purchase mM137p for the current fiscal year which ends on 10°1 1" (including
those that were collected after n1210 [and certainly all those that were already placed in the mo3p for the three nva17n]).
24 He did not give a %pwn n°xnn from 77X 1" of the previous year until after 10°1 1" (thirteen months) of this year.
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For »''1 follows his ruling which he states there in 2°%pw 'on; if all the N0 were

used up, he returns to buy the n1127p from the 75W?:7 9999w, and therefore there is 77°vn»
by 7w »1»w,? and the same will apply to Ppny Popn -
- 19908 OX PPPINYY DXIIN 33) 331 BPYY DIINNT 5357 597 1Y DT PN

For the 7ow%1 ™ and the Pp°ny %P0 are similar to each other, for just as we
return to the 2>"°w, we also return to the °p°ny 170 if necessary.

mooin asks:
= 260910 112999 13992 NN 928 MI29PY PPINYN DIINY 2819 1551 9INN ON)

And if you will say, but how can we be 2910 from the 1PP°nY for the 912%% nuasp

(according to n"7), for we need that the 712°¥ N1127p come from a ‘new’ 729N -
= WA YN 270990 NYWIN NN AN (1 97 NIYN YN )PVWIT75

As WX " expounds in 57" n20n on the 10D of YwTna wWr %Y, to mean bring the
2°X N1127P from a new 712390, so how can we bring them from last years 27pw.

N1D0IN answers:
- 13572y YWON NYT NN YaN 2871810 1395107 119 U

And one can say; that is only for a 77137, but if there is no other possibility, we
do the m127p from last year’s 2opw.

Moo offers another solution:
= 29NANN 119 NN2MAN NIY NN NIY 919995 17 NIV INAVY 1199 91999 V) 1) ON

Or you may also say, since they were brought this year, meaning a complete

year did not pass from the time it was brought
= YN NNIIN N2 RPIP 929V

We can indeed refer to it as 72T 790,

mooin utilizes this last answer as a means to resolve another difficulty
= 99N (ox,1 97 DIIPY NIVNAT DLV PYPNRY NINK RIVIP RN 75 TIND

25 See ‘Thinking it over’.

26 The money in the 1°°ny 27N are not from this year’s obligation but rather they are owed for last year’s obligation;
they should not be considered nw7i fn17N.

27 The amn writes (in 7>, [0719] 92713) that 73wa *WIN? WIN2 WIN N2W DX, this is interpreted to mean 7207 Xam wIn
mw7n, and we derive that mw cycle begins on j0°1 as it is written (in 2,2° [X2] NMAW) wWIn2 "2 PWRI "N 239 31 wINA
28 It is preferable to bring 7w Am1Inn and one receives a Mxn for doing it so, however it is permissible to bring from
71w 7N if there is no choice in the matter.

2 Granted that these PPNy 77PN were to repay the debt of last year, however since in actuality they were brought
during this fiscal year (a year did not pass since they were brought), it is considered fwTn 717N,

30 Tn our na it is on 2,%.
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And based on this last answer another difficulty will be resolved, for the

‘world**! asks, that in 2%9pw npon it cites a xn™a -
= 0N OYIYI DIPNNY MY NI AN

‘There is 79°v» regarding the stones of the 72t and the n91y and the %257, this

concludes the &n>1a -
- 321’\’)9) 09N 90 0”9V a NYIYN VI ) oNn 799

And the X713 there asks, ‘but is there 79°v» by 2v777w; for these stones were made
from 2%9°, so how can there be 72°yn? The X3 there continues -

= D95V PYHVIN 9INRT NI IINND 229 NI 99
And if you will say that the Xn»92 follows the view of %' who maintains {7517

Q999°2, but that cannot be, for -
= 1991999 INIYY NIN 1IN 1MV TINA NN 99N 229 99N DY

»'"9 only said that 0>>7°w2 Py only within the year, but here we are discussing

a 0»°Wwa 72°yn after its year -
- YUY W DY N1 DD NATH Y9NV

For many years have passed since the 121 and 2257 were built, so how can it follow

the view of n"7. This concludes the citation from the "»%w17°. N1BOIN continues -
= 31MY 19297 22 DY N 1PP2N¥A POV NN N IINM 239 NNT AVP)

But there is a difficulty for »'"9 stated here that °p>nwa 9¥1%, even though the

year passed -
= 9NN 229 99N DIV DNN 7299 INMY DIIPY NIDNT RINN NINNI MIPIND 13981 19 ON)

So therefore we can indeed establish that xn>»12 in 2°»pw noo» which states that
there is 712°¥» by the 121 n2m:7 12K, is according to n"9, so why does the X 1) there

ask, ‘did »''9 say anything about 11w y11°, when indeed he says there is WY yn 72°91 by
TR°NY PoPN; the "noW17° seems to be difficult to understand.

npoIn clarifies the sn7w1;
- )T MIWA NDNVY ANRD DYTN NN 193 139997 XN 1989NNT N1 299

However according to what we answered here that since it was brought this

year it is called 7wTn 72190 -
$9ONN 2295 ONNYT NINN MIPIND 19981 XYY NN 929YW NN

It is well understood why we could not establish that Xn»02 in the “now

31 Someone once commented on this expression a71wn Pwpn (the ‘world’ asks), which is often found in the own9n,
that seemingly only a handful of people asked this question and yet we term it that the whole world is asking, and this
is because in truth it is these (few) people who are engaged in 7110 study (who are asking), they indeed are the ‘whole
world’.

32 A xpea cited there previously states w97 >1Wwn 1R MATYM 93°0M 79w mam.

33 The Ppony 7720 for were last year’s 02w, more than a year has passed.
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according to »''9, since "1 said his rule of 1y only by 11w 710 but not by Wnw? .

Summary
All agree that if there is a potential to use the 2°%pw for M127p there will be 75 vn.

The dispute is whether we may bring n127p from 7ow%7 *1»w and Pp°ny 12pn (the
view of n"9) or not (the view of the p"n). PPNy 19PN may either not be considered
W AN, however 72772 we do not need fw7n 72170, or they may be considered
w7 AN since they are brought within this fiscal year.

Thinking it over

The &1 asks on 27 (who maintains that once an object of w7pi may be used [since
NAWwn IKR9MY 77N 71n3 RY], there is never 712°¥n by this object), why according to 1"
is there 719°¥n by 1owWHn W, since the 7OW? W is used for 121 w7 nvaI and it is
impossible not to derive benefit from v MM, so there should be no 77°¥71 in the
oW 1w, However according to what miooin cites from the *»n5w17 that »"9
maintains that 72w >1»Ww3a 19, because we may use it for the 9128 n1137p,** what
is the s'®mx question?! Indeed regarding the 371vn nvaIn there will never be 72791,
since NIW: *aRDA? 77N 7IN7 K9, however regarding the 7owW5n *1°w money, which
may be used for n1127p, there is 72yn!¥

34 See footnote # 25.
35 See nwn o1 and TMoNT WNEN XK # 148-51..

8
TosfosInEnglish.com



